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import pandas as pd

import mglearn

F T AREE

iris dataframe = pd. DataFrame(X_ train, columns = iris_dataset. feature names)
# I y_train &

grr = pd. plotting. scatter matrix(iris dataframe,c =y train,figsize= (15,15),marker = 'o’,

~N o0 U W N

hist kwds = {'bins':20},s =60, alpha = .8, cmap = mglearn. cm3)
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(2) YLy

(3) PRAL T

KNN Bk K 248 LA Sl 48 X B — A K =3 LAY, Jf B U1l R8s
X_train A1 Y_train YE A 250, ¥ AR A A LD a0 3-2 Fras

(51 3-2] g KNN B,

from sklearn. neighbors import KNeighborsClassifier

# 8 sklearn J&E 41 [ KNN 45 U
knn = KNeighborsClassifier(n neighbors = 3)

B W N

knn. fit(X_train, y train)

HEELKNN JE— X% knn. fitO B PR B0 AJE KNN XS0 N &dE . 3
1E KNN 232588 O &0 & 58 Bl T knn. predictO R 50T DA SOG4 100, o T BEASE 2
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PG 3-2 vk g ) KININ ABERYE A7 35000, S oy 300000 285 2R O 31 5 . AR 4
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1. vy pred=knn.predict(X test)

2. print("Test set predictions:\n {}". format(y pred))
3. print("Test set score: {:.2f}". format(np.mean(y pred= =y test)))

LR E
Test set predictions:

[21020201112111101100210020011021022102]
Test set score: 0.97
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